# Characterization of Homogeneous System of Difference Equations 

Huda Hussein Abed, Bassam Jabbar Al-Asadi*<br>Department of Mathematics, College of Science, Mustansiriyah University, Baghdad, IRAQ.<br>*Correspondent contact: bassam77jj@uomustansiriyah.edu.iq

## ArticleInfo

Received
22/11/2020
Accepted 27/12/2020

Published 20/02/2021


#### Abstract

In this paper we introduced new definitions of the system of homogenous difference equations of order two; namely homogenous and semi homogenous system, where we focused on finding the equivalents for these definitions of order one as well as of order greater than one for the system of difference equations of the second order and given some examples. We also a given formula to find the power of the matrix that we used in this research.


KEYWORDS: Difference equation; homogenous system; semi-homogenous; difference system.

الخلاصة قالمنا في هذه البحث تعاريف جديدة لنظام المعادلات الفرقية التنجانسة من الرتبة اثين؛؛ اسميناهما نظام متجانس وشبه متجانس، حيث ركزنا على إيجاد المكافيأت لهئه النعاريف من الرتبة واحد وكذلك الرتبة الأكبر من واحد لنظام المعادلات الفرقية من الرتبة الثانية و اعطينا بعض ألامثلة. كما قـمنا أيضنًا صيغة لإيجاد القوة للمصفوفة، التي استفنـنا منها في بشثنا هذا.

## INTRODUCTION

Difference equations is very important branch in mathematics, it runs parallel to differential equations and is no less important on it. The general difference equation is defined as follows [1].
$x(n+t)=f(x(n))$
Difference equation can be defined as: an equation showing the relationship between successive values of a sequence and the differences between them. it often rearranged as a recursive formula, hence the output of system can be calculated from the input signal and it's past outputs. For example

$$
\begin{aligned}
& a(t)+7 a(t-1)+2 a(t-2)= \\
& b(t)-4 b(t-1) .
\end{aligned}
$$

This relation expresses itself in the general form to difference equation (1)
but this study, takes $t=1$.
We will adopt the notation
$f^{2}\left(x_{0}\right)=f\left(x_{0}\right)=f\left(f\left(x_{0}\right)\right), f^{3}\left(x_{0}\right)$
$=f\left(f\left(f\left(x_{0}\right)\right)\right), \ldots . .$, etc.

Where $f\left(x_{0}\right)$ is called the first iterate of $x_{0}$ under $f$;
$f^{2}\left(x_{0}\right)$ is called the second iterate of $x_{0}$ under f ; In general, $f^{n}\left(x_{0}\right)$ is the $n^{\text {th }}$ iteration of $x_{0}$ under $f$. Thus

$$
\begin{gathered}
x(n+1)=f^{n+1}\left(x_{0}\right)=f\left[f^{n}\left(x_{0}\right)\right] \\
=f(x(n)) .
\end{gathered}
$$

Letting $x(n)=f^{n}(x)$.
Differential equations are included in many fields, it found in medicine, economics[7], physics[6][7], chemistry ... etc. and have many applications, for example, the question developed by the world that led to the Hanoi horoscope can be found in [6].
The concept of homogeneity as found in differential equations is also found in difference equations. There are two concepts of homogeneity, depending on the order of the equation, for homogeneity in the equations of the first order is known by the following equation
$x(n+1)=a(n) X(n)+b(n)$
where $b(n)=0$, otherwise equation (2) called nonhomogeneous [2].
While for the order that is larges or equal to two, the homogeneity intended by
$x(n+t)+a_{1}(n) x(n+k-1)+\cdots+$
$a_{k}(n) x(n)=g(n)$
that the right side of equation (3) is equal to zero[3].
In differential equations there is another concept of homogeneity of the first-order equations, which is known as the following
$f(\alpha x, \alpha y)=\alpha^{m} f(x, y)$
where $m>0$ [3].
These concepts apply to differential and difference systems
$X(n+1)=A ́(c) X(n)$
as well
Based on the concept of homogeneity (4) Asadi in [4], generalized the concept of homogeneity on the systems of difference equations and called it generalization of homogeneity and defined it as follows:
$F(A(c) X(n))=(A(c))^{m} F(x(n))$
where $X=\left(x_{1}, x_{2}, \ldots, x_{n}\right)^{T}$,
$F=\left(f_{1}, f_{2}, \ldots, f_{n}\right), f_{i}$ is continuous and differential function defined on $D \subseteq R, \quad m>0$ and for any matrix $A(c)$ such that
$c \in(1-p, 1+p), p>0$
But he did not delve into it, just giving a definition and some prelude to the definition.
In this research without using condition (7) we call the definition (6) the homogeneity of the homogeneous system.
A new concept called semi homogenous of homogenous system of difference equations if there exists a non-zero, nonidentity real matrix $A$ such that the equation (6) is hold.
This paper focused on finding the equivalents for these definitions of order 1 as well as of order greater than one for the system of difference equations of the second order (i.e. the matrix has dimensions 2 ) and given some examples.

## REREPRESENTATION OF $\boldsymbol{A}^{\boldsymbol{n}}$

## Lemma 2-1 [3]:

We can representation of An in the form.
$A^{n}=\sum_{i=1}^{h} v_{i}(n) N(i-1)$
Where $A$ is a real Matrix, $N(n)=\prod_{i=1}^{n}\left(A-\alpha_{i} I\right)$,
$v_{1}(n)=\alpha_{1}^{n} \quad$ and
$v_{i}(n)=\sum_{j=0}^{n-1} \alpha_{i}^{n-1-j} v_{i-1}(j), \quad i=2,3, \ldots, k$.

## Theorem 2-2:

Let $A=\left[\begin{array}{ll}a_{11} & a_{12} \\ a_{21} & a_{22}\end{array}\right]$ be a matrix of real numbers with eigenvalues $\alpha_{1}$ and $\alpha_{2}\left(\alpha_{1} \neq \alpha_{2}\right.$ then we can find $A^{n}$ by the following formula $\quad A^{n}=$

$$
\left(\begin{array}{cc}
\alpha_{1}^{n}+\frac{\left[\left(\alpha_{1}\right)^{n}-\left(\alpha_{2}\right)^{n}\right]\left(a_{11}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \frac{\left[\left(\alpha_{1}\right)^{n}-\left(\alpha_{2}\right)^{n}\right]\left(a_{12}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} \\
\frac{\left[\left(\alpha_{1}\right)^{n}-\left(\alpha_{2}\right)^{n}\right](a 21)}{\left(\alpha_{1}-\alpha_{2}\right)} & \alpha_{1}^{n}+\frac{\left[\left(\alpha_{1}\right)^{n}-\left(\alpha_{2}\right)^{n}\right]\left(a_{22}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)}
\end{array}\right)
$$

## Proof:

By lemma 2-1 we have

$$
\begin{aligned}
& N(0)=I, N(1)=\left(A-\alpha_{1} I\right) \\
& =\left(\begin{array}{cc}
a_{11}-\alpha_{1} & a_{12} \\
a 21 & a_{22}-\alpha_{1}
\end{array}\right) \\
& v_{1}(n)=\alpha_{1}^{n}, v_{2}(n)=\alpha_{2}^{n-1-1} v_{1}(n) \\
& A^{n}=v_{1}(n) N(0)+v_{2}(n) N(1) \\
& =\left(\begin{array}{cc}
\alpha_{1}^{n}+\frac{\alpha_{2}^{n-1}\left(\frac{\alpha_{1}}{\alpha_{2}}\right)^{n-1}\left(a_{11}-\alpha_{1}\right)}{\frac{\alpha_{1}}{\alpha_{1}}-1} & \frac{\alpha_{2}^{n-1}\left(\frac{\alpha_{1}}{\alpha_{2}}\right)^{n-1} a_{12}}{\left(\frac{\alpha_{1}}{12}-1\right)} \\
\frac{\alpha_{2}^{n-1}\left(\frac{\alpha_{1}}{\alpha_{2}}\right)^{n-1} a_{21}}{\frac{\alpha_{1}}{\alpha_{2}}-1} & \alpha_{1}^{n}+\frac{\alpha_{2}^{n-1}\left(\frac{1}{\alpha_{1}}\right)^{n-1}\left(a_{22}-\alpha_{1}\right)}{\alpha_{\alpha_{1}}} \alpha_{\alpha_{2}}-1
\end{array}\right) \\
& A^{n}=\left(\begin{array}{cc}
\frac{\alpha_{1}^{n}}{\alpha_{1}^{n}}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{11}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{1}\right)} & \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(\alpha_{12}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} \\
\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{21}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{22}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)}
\end{array}\right) \ldots \ldots \ldots \ldots(*)
\end{aligned}
$$

Notation: The aim of the above formula (*) is to easily calculate the power of the matrix if this power is a large number.

## Example2.3:

Let $A=\left(\begin{array}{ll}1 & 0 \\ 1 & 2\end{array}\right)$ we can find $A^{n}$ by the above formula
The eigenvalues of $A$ is $\alpha_{1}=1, \alpha_{2}=2$
By theorem 2-2

$$
\begin{aligned}
& A^{n}=\left(\begin{array}{cc}
\alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{11}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{12}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} \\
\frac{\left(\alpha_{1}^{n}-\alpha_{1}^{1}\right)\left(a_{21}\right)}{\left(\alpha_{1}-\alpha_{2}\right.} & \alpha_{1}^{n}+\frac{\left(\alpha_{1}^{1}-\alpha_{2}^{n}\right)\left(a_{22}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)}
\end{array}\right) \\
&
\end{aligned}=\left(\begin{array}{cc}
(1)^{n}+\frac{\left.(2)^{n-1}\left[\frac{1}{2}\right)^{n}-1\right](1-1)}{\left(\frac{1}{2}-1\right)} & \frac{(2)^{n-1}\left[\left(\frac{1}{2}\right)^{n}-1\right](0)}{\left(\frac{1}{2}-1\right)} \\
\frac{(2)^{n-1}\left[\left(\frac{1}{2}\right)^{2}-1\right](1)}{\left(\frac{1}{2}-1\right)} & (1)^{n}+\frac{(2)^{n-1}\left[\left(\frac{1}{2}\right)^{n}-1\right](2-1)}{\left(\frac{1}{2}-1\right)}
\end{array}\right) .
$$

$$
A^{10}=\left(\begin{array}{cc}
1 & 0 \\
2^{10}-1 & 2^{10}
\end{array}\right)=\left(\begin{array}{cc}
1 & 0 \\
1023 & 1024
\end{array}\right)
$$

## CHARACTERIZATION OF HOMOGENEITY OF HOMOGENOUS SYSTEM

## Definition 3-1:

The system (5) is called semi homogenous of homogenous system of difference equations if there exist a non-zero, nonidentity real matrix $A$ such that the equation (6) is hold.
Consider the difference system of order two
$F(X(n))=A ́ X(n)$
where $F$ is continuous function define on $D \subseteq R^{2}$ (that is $F=(f, g)$ ) and $F(X(n))=$ $X(n+1))$
can be written as:
$\binom{x(n+1)}{y(n+1)}=\left(\begin{array}{ll}a_{11}^{\prime} & a_{12}^{\prime} \\ a_{21}^{\prime} & a_{22}^{\prime}\end{array}\right)\binom{x(n)}{y(n)}$
Now we will find the necessary and sufficient conditions to the system (8) to be semi homogenous of order one.

## MAIN RESULT ONE

## Theorem 3-2:

The necessary and sufficient conditions to the homogenous system of difference equations (8) to be homogenous of order one is
$a^{\prime}=d^{\prime}, b^{\prime}=c^{\prime}=0$. Where $A=\left(\begin{array}{ll}\dot{a} & b \\ c & d\end{array}\right)$.

## Proof:

## Necessary condition:

Since $F$ is homogenous of degree one, then for any matrix $A_{2 \times 2}$, we have $F(A X(n))=$ $A F(X(n))$, that is
$\binom{f(a x+b y)}{g(c x+d y)}=\left(\begin{array}{ll}a & b \\ c & d\end{array}\right)\binom{f(x)}{g(y)}$,
therefore

$$
\left(\begin{array}{l}
a(\dot{a} x+\dot{b} y)+b y \\
c \\
c
\end{array}\right)=\left(\begin{array}{ll}
a & b \\
c & d
\end{array}\right)\binom{f(x)+d y)}{g(y)}
$$

that is

$$
\begin{aligned}
& \binom{\dot{a} a x+(\dot{a} b+\dot{b}) y}{(\dot{c}+\tilde{d} c) x+d \dot{d} y} \\
& \quad=\binom{(a \dot{d}+b c ́) x+(a \dot{b}+b \dot{d}) y}{(c a ́+d \dot{c}) x+(c \dot{b}+d \dot{d}) y}
\end{aligned}
$$

$b c ́=0, \quad \dot{a} b+\dot{b}=a \dot{b}+b d, \quad \dot{d}+d ́ d c=c a ́+$ $d c ́, c \bar{b}=0$
If $b \neq 0, c \neq 0$, then $\dot{c}=\hat{b}=0$, and $a^{\prime}=d^{\prime}$.
Now if $b=0$ or $c=0$ no loss of generally, let $b=0$, then we have

$$
\begin{aligned}
& \binom{a \dot{a} a x+\dot{b} y}{(\dot{c}+\dot{d} c) x+d d} \\
& \quad=\binom{a \dot{d} x+a \dot{b} y}{(c \dot{a}+d \dot{c}) x+(c \dot{b}+d \dot{d}) y}
\end{aligned}
$$

and $\dot{c}=\hat{b}=0, a^{\prime}=d^{\prime}$.

## Sufficient condition:

$F$ is homogenous of degree one if for any matrix $A_{2 \times 2}$
we have $F(A X(n))=A F(X(n))$.
Let $A=\left(\begin{array}{ll}a & b \\ c & d\end{array}\right)$ be a matrix, the $F(A X(n))=$
$F\left(\left(\begin{array}{ll}a & b \\ c & d\end{array}\right) X(n)\right)=\binom{f}{g}\left(\left(\begin{array}{ll}a & b \\ c & d\end{array}\right)\binom{x}{y}\right)=$
$\binom{f(a x+b y)}{g(c x+d y)}$ n, now since $d^{\prime}=a^{\prime}, b^{\prime}=c^{\prime}=0$,
we have

$$
\begin{aligned}
f(a x+b y)= & a^{\prime}(a x+b y)+b^{\prime} y \\
& =a \dot{a} x+a \dot{b} y+b a ́ y \\
& =a(\dot{a} x+\dot{b} y)+b(c ́ x+d y) \\
& =a f(x)+b g(y) \text { and } \\
g(c x+d y)= & c^{\prime} x+d^{\prime}(c x+d y) \\
& =c c ́ x+c a ́ x+d c ́ x+d \dot{d} y \\
& =c(a ́ x+\dot{b} y)+d(\dot{c} x+\dot{d} y) \\
& =c f(x)+d g(y) .
\end{aligned}
$$

That is $\quad F(A X(n))=\binom{a f(x)+b g(y)}{c f(x)+d g(y)}=$ $\left(\begin{array}{ll}a & b \\ c & d\end{array}\right)\binom{f(x)}{g(y)}=A F(X(n))$.
Hence $F$ is homogenous of order one.

## Example 3-3:

Consider the system of difference equations

$$
\begin{aligned}
& x(n+1)=3 x(n) \\
& y(n+1)=3 y(n)
\end{aligned}
$$

then since $a^{\prime}=d^{\prime}, b^{\prime}=c^{\prime}=0$ then by theorem(3.2) this system is homogeneous of degree 1 .
To check that we use definition of homogeneous:
Take $A=\left(\begin{array}{cc}1 & 1 \\ -2 & 4\end{array}\right)$ (for special) or any matrix of real numbers.
and we have

We must prove that $F\left(\left(\begin{array}{cc}1 & 1 \\ -2 & 4\end{array}\right)\binom{x}{y}\right)=$

$$
\binom{f(x+y)}{g(-2 x+4 y}=\left(\begin{array}{cc}
1 & 1 \\
-2 & 4
\end{array}\right)\binom{f(x)}{g(y)}
$$

The left hand $(x+y)=3(x+y)=3 x+3 y$,

$$
g(-2 x+4 y)=3(-2 x+4 y)=
$$

$-6 x+12 y$, that is
$F\left(\left(\begin{array}{cc}1 & 1 \\ -2 & 4\end{array}\right)\binom{x}{y}\right)=\binom{3 x+3 y}{-6 x+12 y}$.
The right hand $\left(\begin{array}{cc}1 & 1 \\ -2 & 4\end{array}\right)\binom{3 x}{3 y}=\binom{3 x+3 y}{-6 x+12 y}$.
So $F$ is homogeneous of order 1 .
Now we study under any assumptions homogenous system of difference equations become homogenous of order greater than one.

## THE MAIN RESULT TWO

## Theorem 3-4:

The necessary and sufficient conditions to a homogenous system of difference equations (8) to be semi homogenous of order $n$ where $n \geq 2$ is the matrix $A=\left(\begin{array}{cc}\dot{a} & b \\ c ́ c & d\end{array}\right)$ be a solution of the following algebraic
system

$$
\left.\begin{array}{c}
(a-A) a^{\prime}-B c^{\prime}=0  \tag{10}\\
b a^{\prime}+(1-A) b^{\prime}-B d^{\prime}=0 \\
C \dot{a}+(D-1) c ́-c \dot{d}=0 \\
C \dot{b}+(D-d) d=0
\end{array}\right\}
$$

Where $\quad A=\left(\begin{array}{ll}a & b \\ c & d\end{array}\right), A^{n}=\left(\begin{array}{ll}A & B \\ C & D\end{array}\right)=$ $\left(\begin{array}{cc}\alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{11}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{12}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} \\ \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{21}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{22}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)}\end{array}\right)$,
$\alpha_{1} \neq \alpha_{2}$

## Proof:

## Necessary condition:

A solution of the algebraic system (10) is not unique since there is many solutions of the system (10); that is, there is many homogenous system of order $n$ depending on $A$.
Now to proof for order n ; that is, to prove $F(A X)=A^{n} F(X)$ for some $A$,

$$
\left.\begin{array}{c}
F(A X)=\binom{f(a x+b y}{g(c x+d y)}=\binom{a a ́ x+(b a ́+b}{(\dot{c}+c \dot{d}) x+d \dot{d} y} \\
A^{n} F(X)=\binom{(A a ́+B c ́) x+(A \hat{b}+B d) y}{(C a ́+D c ́) x+(C \dot{b}+D d} y
\end{array}\right) .
$$

Assume that, $\dot{a}=\dot{d}=1$, then from system (4) we get $c ́=\frac{a-A}{B}$, and

$$
\begin{aligned}
& A d-A D=C b-C B+d-D \\
& C B-D A=a-A-D a+c B, \text { hence }
\end{aligned}
$$

$$
A^{n} F(X)=\binom{(A \dot{a}+B \dot{c}) x+(A \dot{b}+B \dot{d}) y}{(C \dot{a}+D \dot{c}) x+(C \dot{b}+D \dot{d}) y}
$$

$$
=\binom{\left(A+B\left(\frac{a-A}{B}\right)\right) x+\left(A \frac{d-D}{C}+B\right) y}{\left(C+D\left(\frac{a-A}{B}\right)\right) x+\left(C \frac{d-D}{C}+D\right) y}
$$

$$
=\binom{a x+\frac{A d-A D+C B}{C} y}{\left(C+\frac{D a-D A}{B}\right) x+d y}
$$

$$
=\binom{a x+\frac{C b-C B+d-D+C B}{C} y}{\left(\frac{C B+D a-D A}{B}\right) x+d y}
$$

$$
=\binom{a x+\left(b+\frac{d-D}{C}\right) y}{\left(\frac{a-A}{B}+\frac{c B-D a+D a}{B}\right) x+d y}
$$

$$
=\binom{a x+(b+b) y}{(c+c) x+d y}=\binom{f(a x+b y}{g(c x+d y)}
$$

$$
=F(A X)
$$

Hence $F$ is semi homogenous of order $n$.

## Sufficient condition:

Let the system (8) be semi homogenous of order $n$ where $n \geq 2$ that is $F(A X)=A^{n} F(X)$ for some (
$n \in Z^{+}$, and $\left.A \neq 0, A \neq I\right)$, hence

From (11) and (12) we have

$$
\begin{gathered}
(a-A) a^{\prime}-B c^{\prime}=0 \\
b a^{\prime}+(1-A) b^{\prime}-B d^{\prime}=0 \\
C a ́+(D-1) c ́-c \dot{d}=0 \\
C \dot{b}+(D-d) d=0
\end{gathered}
$$

To illustrate the Theorem 2.4, the following example introduced.

## Example 3-5:

Let $F(X(n))=A ́ X(n)$ be a system of difference equations

$$
\begin{align*}
& A(\dot{a} x+\hat{b} y)+B(\dot{c} x+d \dot{d} y) \\
& =(A \dot{a}+B \dot{c}) x+(A b \dot{b}+B d) y \\
& =a a ́ x+(b a ́+b) y \text {. } \\
& C(\dot{a} x+\hat{b} y)+D(\dot{c} x+d ́ d y) \\
& =(C a ́+D c ́) x+(C b ́ b+d) y \\
& =(\dot{c}+d ́ c) x+(d \dot{d}) y \tag{12}
\end{align*}
$$

where $\dot{A}=\left(\begin{array}{ll}\frac{2}{3} & 1 \\ 1 & \frac{2}{3}\end{array}\right)$ then, there exist $A=$ $\left(\begin{array}{cc}-1 & 2 \\ 2 & -1\end{array}\right)$ such that $F(A X(n))=A^{2} F(X(n))$.

## Solve:

The eigenvalues of $A$ are $\alpha_{1}=1, \alpha_{2}=-3$. $A^{n}$
$=\left(\begin{array}{cc}\alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{11}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{12}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} \\ \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{21}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{22}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)}\end{array}\right)$
$A^{2}=\left(\begin{array}{cc}5 & -4 \\ -4 & 5\end{array}\right)$
$f(x)=a^{\prime} x+b^{\prime} y=\frac{2}{3} x+y$
$g(y)=c^{\prime} x+d^{\prime} y=x+\frac{2}{3} y$
$F\binom{a x+b y}{c x+d y}=A^{2}\binom{f(x)}{g(y)}$
$F\left(\left(\begin{array}{cc}-1 & 2 \\ 2 & -1\end{array}\right)^{x} y\right)=\left(\begin{array}{cc}5 & -4 \\ -4 & 5\end{array}\right)\binom{\frac{2}{3} x+y}{x+\frac{2}{3} y}$
The left hand is $\binom{f(-x+2 y)}{g(2 x-y)}=\binom{\frac{-2}{3} x+\frac{7}{3} y}{\frac{7}{3} x-\frac{2}{3} y}$
The right hand is

$$
\left(\begin{array}{cc}
5 & -4 \\
-4 & 5
\end{array}\right)\binom{\frac{2}{3} x+y}{x+\frac{2}{3} y}=\binom{\frac{-2}{3} x+\frac{7}{3} y}{\frac{7}{3} x-\frac{2}{3} y}
$$

Hence $F$ is semi homogenous of order 2

## Remark 3-6:

We can solve example (3-5) by using theorem (3-
4) that is the matrix $A$ is satisfy the system (10)

$$
\begin{gathered}
(a-A) a^{\prime}-B c^{\prime}=0 \\
b a^{\prime}+(1-A) b^{\prime}-B d^{\prime}=0 \\
C a ́+(D-1) \dot{c}-c \dot{d}=0 \\
C \dot{b}+(D-d) \dot{d}=0
\end{gathered}
$$

## Definition 3-7:

The system (5) is called a self-semi homogeneous if $A=A$.
Remark 3-8- A system is self-semi homogeneous of order $m$ iff
$\left.F(A X(n))=A^{m+1} X(n)\right)$.

## Remark 3-9:

Every homogeneous system is self-semi homogeneous and every self-semi homogeneous is semi homogeneous, the converse in general is not true.

## Remark 3-10:

Example 3.5 explains remark (3-9). It is semi homogeneous not homogeneous and not self-semi homogeneous.

## CONCLUSIONS

The necessary and sufficient conditions to a homogenous system of difference equations (8) to be semi homogenous of order $n$ where $n \geq 2$ is the matrix $A=\left(\begin{array}{ll}\dot{a} & \hat{b} \\ \dot{c} & \dot{d}\end{array}\right)$ be a solution of the following algebraic system

$$
\left.\begin{array}{c}
(a-A) a^{\prime}-B c^{\prime}=0 \\
b a^{\prime}+(1-A) b^{\prime}-B d^{\prime}=0 \\
C a ́+(D-1) \dot{c}-c \dot{d}=0 \\
C \dot{b}+(D-d) d
\end{array}\right\}
$$

Where
$A=\left(\begin{array}{ll}a & b \\ c & d\end{array}\right), A^{n}=\left(\begin{array}{ll}A & B \\ C & D\end{array}\right)$
$=\left(\begin{array}{cc}\alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{11}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{12}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} \\ \frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{21}\right)}{\left(\alpha_{1}-\alpha_{2}\right)} & \alpha_{1}^{n}+\frac{\left(\alpha_{1}^{n}-\alpha_{2}^{n}\right)\left(a_{22}-\alpha_{1}\right)}{\left(\alpha_{1}-\alpha_{2}\right)}\end{array}\right)$,
$\alpha_{1} \neq \alpha_{2}$
The necessary and sufficient conditions to the homogenous system of difference equations (8) to be semi homogenous of order one is
$a^{\prime}=d^{\prime}, b^{\prime}=c^{\prime}=0$. Where $A=\left(\begin{array}{ll}a & b \\ c & d\end{array}\right)$.

## FUTURE WORK

1-Define (semi) homogeneous of nonhomogeneous system of difference equations.
2- Find the necessary and sufficient conditions to the (non) homogenous system of difference equations of order greater than two to be a semihomogenous.

## ACKNOWLEDGMENT

The authors thank the University of Mustansiriyah for their supported; also, thanks the Department of Mathematics at College of Science for provide a good environment to do this research. Special thanks to all members in the journal of science.

## REFERENCES

[1] Goldberg S. 1958. Introduction to difference equations New York: John Wiley \& Sons, Inc.
[2] David L. J. 2002. difference equations with applications to queues, printed in the united states of America.
[3] William A. and Mark G. 2012.Ordinary Differential Equations, springer, ISBN 978-1-4614-3618-8 (eBook).
[4] Аль-Асади Б. Д.; О свойствах разностной системы. успехи современной науки, no.3, Tom 2, c.105-107, 2016
Эфендиева Э. А.; Об Одной Системе разностных уравнений высших порядков. ФДУ и их приложения, вы.4, с 92-94, 2002.
[5] Paul C., Mary F. and Robby R. 2015. Difference Equations from Rabbits to Chaos, Springer, ISBN 0-387-23234-6 (softcover), ISBN 0-387-23233-8 (hard cover)
[6] Lungelo K. N.; Difference Equations and Their Symmetries, A Dissertation submitted to the Faculty of Science, University of the Witwatersrand, Johannesburg, in fulfilment of the requirements for the degree of Master of Science. September 26, 2014
[7] Aliakbar M. H. and Dimitar P. M.; Difference and Difference Equations with Applications in Queuing theory, John Wiley \& Sons, Inc. 2013, ISBN 978-1-118-39324-6 (hardback).

